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Ukgnhnu (English

Q1

ELEGANT
Ans 3 majestic
/< an smiling
W n graceful

/< n natural

Select the synonym of the given word.

fuptunhnu hS 9096115481

Uwppu .00

Ans X n widely

/< &n widen
X n wide
v 1 width

Because of the growing traffic on this bridge, government has planned to increase its

Q_2 Fill in the blank with the appropriate word that is derived from the word given within bracket.

(wide).

fuptunhnu hS 8096115487

Uwnpu (@.00

Ans

5 an Once

' 1 oneself

X n source of

/5 n is now struggling

Once a popular source of entertainment, circus is now struggling to keep oneself afloat.

Q.3 Inthe following sentence four words or phrases have been underlined, one of which is not correct.
Select the incorrect word or phrase from the given options.

(')O ‘ Uwnpu @.00

fupkunhnu bS 9096115485

&

Ans

AsIdidn’t know the meaning of this word, I searched for it in the dict

« n looked it up

< an watched out
/X n saw through it

X 1 looked at it

<

Q.4 Select the appropriate phrase for the underlined words in the given sen

1@

&.

PHARMACY INDIA
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Ans

X n leach

Q5 Select the wrongly spelt word.

fuptunhnu hS 9096115483
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< én lethal
W n leger

< n league
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Uwppu @.00

Q6 Select the antonym of the given word.

GORGE
Ans & cram

/< an satiate
X n glut
(’n starve

fuptunhnu bS 9096115482

Uwnpu .00

Q.7 Select the option with most appropriate word for the given group of words.

A person who doesn’t have a settled home and leads a wandering life

Ans  of n vagabond
& an traveler
& n rustic
& n tourist

fupkunhnu hS ©096115480

Uwppu @.00

Q8 gelect the correctly spelt word.

Ans X n letuce
& 2n lettuse
v n lettuce
& n laittuse

fupkunhn'u PS 0096115484

Uwnpu (@.00

Q.9 Fill in the blank with the most appropriate option.
town from my village is Meerut which is about 15 kilometers away.
Ans  X'n Near
' 2n The nearest
< n The nearer
& n Nearest

fuptunhnu hS 096115489

)

O ¢ Uwnpu .00

. \@.'
O

Q.10 In the following sentence four words or phrases have been underlined, one of which is not corre
Select the incorrect word or phrase from the given options.

The audience were beginning to move out of the hall before the vote of thanks ended. @@
Ans . before

\
&n gudience were \Q(b'
n ended Q

n to move out

Uwnpu hu wkhuy wdwnipbg nn wi) quiupnhgunkun

AW

fuptunhnu hS 8096115486

Uwppu @.00

“Unnkf@ bnn nhhu fupkunhnz pphugnkpwiugb hu $npug hu upkunhnyudipgy kp

Download
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Q.11

fupkunhnu hS 8096115492
Unwnpu Answered
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Fill in the blank with the most appropriate option. ShnutU Mpnhntu (32
Uwnpu .00

We  Vietnam and Cambodia in the next vacation.
Ans X n visited
W an will be visiting
& n have visited
/< n have been visiting

Q.12 Fillin the blanks with the most appropriate option.
] ' ) o " fupkunhnu hS 0096115491
everyone had expected, Puneet got the appointment as Assistant Professor in Physics in the University.
Ans X n Since
X &n What Uungu .00
& n When
v As
Q.13 Fill in the blanks with the most appropriate option.
fuptunhnu hS 9096115490
The Director has great confidence his actors, and they have also proved it.
Ans X n to
. Uwnpu (@.00
#< & about
v n in
X n at
Q.14 Fillin the blanks with the most appropriate option.
fupkunhnu hS 8096115493
soldiers who carried out surgical strike last month have been awarded medals.
Ans  of o The : the
. . . Uwnpu @.00
< an No word required ; no word required e
7< n No word required ; a
#< n The : no word required . \Q
SN2
Q.15 Fillin the blanks with the most appropriate option. \ W
o‘ntur}hn'u hS 9096115488

A friend of is going to join the IIT. We have arranged a party for this evening.

Ans X my ; him 6\
\\

i ¢ Uwppu @.00
« 2 ours ; him N ®
X ;n us:us (bg)
/< n mine ; he §®
Comprehension: Q
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Read the passage and answer the given questions.

India has a road network of over 5,472,144 kilometres, the second largest
road network in the world. At 1.66 km of roads per square kilometre of
land, the quantitative density of India's road network is higher than that
of Japan (0.91) and the United States (0.67), and far higher than that of
China (0.46), Brazil (0.18) or Russia (0.08). However, qualitatively
India's roads are a mix of modern highways and narrow, unpaved roads.

The rural roads in India form a substantial portion of the Indian road
network. These roads are in poor shape, affecting the rural population's
quality of life and Indian farmers’ ability to transfer produce to market
post-harvest. Over 30 percent of Indian farmers' harvests spoil post-
harvest because of the poor infrastructure. Many rural roads are of poor
quality, potholed, and unable to withstand the loads of heavy farm
equipment. These roads are also far from the all-season. good quality 2-
lane or 4-lane highways. making economic resource flow slow, and
logistical costs between different parts of India one of the highest in the
world. For the development of these rural roads, Pradhan Mantri Gram
Sadak Yojana(or “Prime Minister Rural Roads Scheme™), was launched
in December 2000 by the Indian government to provide connectivity to
unconnected rural habitations. The scheme envisions that these roads will
be constructed and maintained by the village panchayats. In some parts
of India, where the government has attempted to manage it directly as a
local social spending program, this program has produced limited results
and no lasting change over 15 years, in either the quality or quantity of
rural road network.

The National Highways are the backbone of the road infrastructure and
the major roads in India. They carry most of India's freight and passenger
traffic. State highways and major district roads constitute the secondary
and interconnecting roads in India.

Expressways make up approximately 1,208 kilometre of India’s rq
network. These high-speed roads are four-lane or six-lane, predomihantly
access controlled. The 165-kilometre Yamuna Expressway. [ reé
longest six-laned controlled-access opened in August ’3{]1”

The government has drawn up a target to lay 18, 63 etre network
of brand new expressways by 2022. Most of the e expressways in
India are toll roads.

PHARMACY INDIA
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SubQuestion No : 16 @ PLAY STORE TO DOWNLOAD OUR APP
Q1€ The main theme of the given passage is: \ opbunpn S 9096115496
Ans & n The rural roads in India \Q
/< 4n The future of Indian road netwo Uppu @00

« n The status of road network in India
/< n The problems of roads in India
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Read the passage and answer the given questions.

India has a road network of over 5,472,144 kilometres, the second largest
road network in the world. At 1.66 km of roads per square kilometre of
land, the quantitative density of India's road network is higher than that
of Japan (0.91) and the United States (0.67), and far higher than that of
China (0.46), Brazil (0.18) or Russia (0.08). However, qualitatively
India's roads are a mix of modern highways and narrow, unpaved roads.

The rural roads in India form a substantial portion of the Indian road
network. These roads are in poor shape, affecting the rural population's
quality of life and Indian farmers’ ability to transfer produce to market
post-harvest. Over 30 percent of Indian farmers' harvests spoil post-
harvest because of the poor infrastructure. Many rural roads are of poor
quality, potholed, and unable to withstand the loads of heavy farm
equipment. These roads are also far from the all-season. good quality 2-
lane or 4-lane highways. making economic resource flow slow, and
logistical costs between different parts of India one of the highest in the
world. For the development of these rural roads, Pradhan Mantri Gram
Sadak Yojana(or “Prime Minister Rural Roads Scheme™), was launched
in December 2000 by the Indian government to provide connectivity to
unconnected rural habitations. The scheme envisions that these roads will
be constructed and maintained by the village panchayats. In some parts
of India, where the government has attempted to manage it directly as a
local social spending program, this program has produced limited results
and no lasting change over 15 years, in either the quality or quantity of
rural road network.

The National Highways are the backbone of the road infrastructure and
the major roads in India. They carry most of India's freight and passenger
traffic. State highways and major district roads constitute the secondary
and interconnecting roads in India.

Expressways make up approximately 1,208 kilometre of India’s rq
network. These high-speed roads are four-lane or six-lane, predomihantly
access controlled. The 165-kilometre Yamuna Expressway. [ reé
longest six-laned controlled-access opened in August ’3{]1”

The government has drawn up a target to lay 18, 63 etre network
of brand new expressways by 2022. Most of the e expressways in
India are toll roads.

PHARMACY INDIA
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SubQuestion No : 17 § PLAY STORE T0 DOWNLOAD OUR APP
Q17 Which roads play the most important rol fupkunpnt bS 096115498
Indian economy? \Q
Ans % n State Highways Q e 00
wnpu 0.

#< &n Rural roads
« n National Highways

/< n Expressways
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Read the passage and answer the given questions.

India has a road network of over 5,472,144 kilometres, the second largest
road network in the world. At 1.66 km of roads per square kilometre of
land, the quantitative density of India's road network is higher than that
of Japan (0.91) and the United States (0.67), and far higher than that of
China (0.46), Brazil (0.18) or Russia (0.08). However, qualitatively
India's roads are a mix of modern highways and narrow, unpaved roads.

The rural roads in India form a substantial portion of the Indian road
network. These roads are in poor shape, affecting the rural population's
quality of life and Indian farmers’ ability to transfer produce to market
post-harvest. Over 30 percent of Indian farmers' harvests spoil post-
harvest because of the poor infrastructure. Many rural roads are of poor
quality, potholed, and unable to withstand the loads of heavy farm
equipment. These roads are also far from the all-season. good quality 2-
lane or 4-lane highways. making economic resource flow slow, and
logistical costs between different parts of India one of the highest in the
world. For the development of these rural roads, Pradhan Mantri Gram
Sadak Yojana(or “Prime Minister Rural Roads Scheme™), was launched
in December 2000 by the Indian government to provide connectivity to
unconnected rural habitations. The scheme envisions that these roads will
be constructed and maintained by the village panchayats. In some parts
of India, where the government has attempted to manage it directly as a
local social spending program, this program has produced limited results
and no lasting change over 15 years, in either the quality or quantity of
rural road network.

The National Highways are the backbone of the road infrastructure and
the major roads in India. They carry most of India's freight and passenger
traffic. State highways and major district roads constitute the secondary
and interconnecting roads in India.

Expressways make up approximately 1,208 kilometre of India’s rq
network. These high-speed roads are four-lane or six-lane, predomihantly
access controlled. The 165-kilometre Yamuna Expressway. [ reé
longest six-laned controlled-access opened in August ’3{]1”

The government has drawn up a target to lay 18, 63 etre network
of brand new expressways by 2022. Most of the e expressways in
India are toll roads.

PHARMACY INDIA
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SubQuestion No : 18 PLAY STORE TO DOWNLOAD OUR APP

Q18 Which statement indicates that rural 1oad%§ dia upkunhnt S 8096115497
are in bad shape?

Ans ?{ n Q

Over 30 percent of Indian farmers’ harvests gets

Uwnpu ©.00

spoilt post-harvest.

X an

The rural roads atfect the rural population’s quality
of life.
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.?{ n

The rural roads are unable to withstand the loads of

heavy farm equipment.

\_f’n

Many rural roads are of poor quality and potholed.

Comprehension:

Read the passage and answer the given questions.

India has a road network of over 5,472,144 Kilometres, the second largest
road network in the world. At 1.66 km of roads per square kilometre of
land, the quantitative density of India's road network is higher than that
of Japan (0.91) and the United States (0.67). and far higher than that of
China (0.46), Brazil (0.18) or Russia (0.08). However, qualitatively
India's roads are a mix of modern highways and narrow, unpaved roads.

The rural roads in India form a substantial portion of the Indian road
network. These roads are in poor shape, affecting the rural population's
quality of life and Indian farmers' ability to transfer produce to market
post-harvest. Over 30 percent of Indian farmers' harvests spoil post-
harvest because of the poor infrastructure. Many rural roads are of poor
quality, potholed, and unable to withstand the loads of heavy farm
equipment. These roads are also far from the all-season. good quality 2-
lane or 4-lane highways. making economic resource flow slow, and
logistical costs between different parts of India one of the highest in the
world. For the development of these rural roads, Pradhan Mantri Gram
Sadak Yojana(or “Prime Minister Rural Roads Scheme™), was launched
in December 2000 by the Indian government to provide connectivity to
unconnected rural habitations. The scheme envisions that these roads will
be constructed and maintained by the village panchayats. In some parts
of India, where the government has attempted to manage it directly as a
local social spending program, this program has produced limited results
and no lasting change over 15 years, in either the quality or quant
rural road network.

and interconnecting roads in India.

Expressways make up approximately 1,208 ki
network. These high-speed roads are four-1
access controlled. The 165-kilometre Ya aExpressway. India's
longest six-laned controlled-access o in August 2012.

The government has drawn up a targetto lay 18.637-kilometre network

Dawnlo:

of brand new expressways by 2022. Most of the existing expressways in oo
India are toll roads.
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Q19 Which statement is NOT true according to the hupkunhn bS 9096115500
passage? Ununpu Answered
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Ans X n Ghnuku Npnhnt @3
Uwnpu ©.00

State highways and district roads constitute the

secondary and interconnecting roads in India.

v
In last 15 years substantial change can be seen in the
quality and quantity of the rural road network.

x n

Most of the expressways in India are toll roads.
x n

The Indian road network is the second largest
in the world.

St

Moy

JINDL

=

e
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Read the passage and answer the given questions.

India has a road network of over 5,472,144 kilometres, the second largest
road network in the world. At 1.66 km of roads per square kilometre of
land, the quantitative density of India's road network is higher than that
of Japan (0.91) and the United States (0.67), and far higher than that of
China (0.46), Brazil (0.18) or Russia (0.08). However, qualitatively
India's roads are a mix of modern highways and narrow, unpaved roads.

The rural roads in India form a substantial portion of the Indian road
network. These roads are in poor shape, affecting the rural population's
quality of life and Indian farmers’ ability to transfer produce to market
post-harvest. Over 30 percent of Indian farmers' harvests spoil post-
harvest because of the poor infrastructure. Many rural roads are of poor
quality, potholed, and unable to withstand the loads of heavy farm
equipment. These roads are also far from the all-season, good quality 2-
lane or 4-lane highways. making economic resource flow slow, and
logistical costs between different parts of India one of the highest in the
world. For the development of these rural roads, Pradhan Mantri Gram
Sadak Yojana(or “Prime Minister Rural Roads Scheme™), was launched
in December 2000 by the Indian government to provide connectivity to
unconnected rural habitations. The scheme envisions that these roads will
be constructed and maintained by the village panchayats. In some parts
of India, where the government has attempted to manage it directly as a
local social spending program, this program has produced limited results
and no lasting change over 15 years, in either the quality or quantity of
rural road network.

The National Highways are the backbone of the road infrastructure and
the major roads in India. They carry most of India's freight and passenger
traffic. State highways and major district roads constitute the secondary
and interconnecting roads in India.

Expressways make up approximately 1,208 kilometre of India’s rq
network. These high-speed roads are four-lane or six-lane, predomihantly
access controlled. The 165-kilometre Yamuna Expressway. Ireé
longest six-laned controlled-access opened in August ’3{]1”

The government has drawn up a target to lay 18, 63 etre network
of brand new expressways by 2022. Most of the e expressways in
India are toll roads.

PHARMACY INDIA
App from Play Store!
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quality 2-lane or 4-lane highways.’

Which one of the options most aptly cgcribes the Uunpu @.00

SubQuestion No : 20 PLAY STORE TO DOWNLOAD OUR APP
Q20 “These roads are also far from the all-seas& ood opbunpn S 9096115499

given sentence as used in the passage?

Ans 2( n
The rural roads can be turned into the good quality
all-season 2-lane or 4-lane highways.
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X an
The rural roads are nothing like the existing good
quality all-season 2- lane or 4-lane highways.
f n
The rural roads are physically away from the good
quality all-season 2-lane or 4-lane highways.
x n
The rural roads can never be developed into good
quality all-season 2-lane or 4-lane highways.
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X an 3T
X on AT
Xon 3T

Shnutu Npnhntu (& --
Uwnpu ©.00
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X n S\ g

fupkunhnu bS 9096115502
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g7
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fupkunhnu hS ©096115513

Uwppu .00

Q.9

Ans

‘O 9Teg T JATIEET &
X n ST
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X n 3

v FJT

fuptdghel hS 9096115512

Uwnpu .00
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X n faTer
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fuptunhnu hS 8096115514
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fupkunhnu hS 8096115507
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X an 3T
X on AT
Xon 3T

Shnutu Npnhntu (& --
Uwnpu ©.00

Q.6

Ans

Ft & =rer e FE SEg F Eer 3 T

X ooy oify & =17 ST
& n MTeTET BT
X n S\ g

fupkunhnu bS 9096115502

Uwnpu ©.00

Q7

Ans

frfaf@a 7 @ e a7 g2
X 0 FHHr AT TWAT & FAAT B
K & 38 A HETIAT HIAT T
v n FH S8 ST JA8r "R

XKoo el & Ol J@r o SmEn

g7

fuptunhnu hS 8096115503

Uwppu ©.00

Q.8

Ans

‘GIET 9l T U= 78l &
X o 3T
v
X n gieed
X 0 g

fupkunhnu hS ©096115513

Uwppu .00

Q.9

Ans

‘O 9Teg T JATIEET &
X n ST
X an 37aTr
X n 3

v FJT

fuptdghel hS 9096115512

Uwnpu .00

Q.10

Ans

‘ofraer g F1 TEH &
Koo
Xan%‘gﬂT

X n faTer
\f’n 3=UT

fuptunhnu hS 8096115514

Uwnpu ©.00

TYPE PHARMACY INDIR IN
PLAY STORE TO DOWNLORD OUR APP

Q.11

sRE A= gl

|

fupkunhnu hS 8096115507
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Ans

Ans

Q.16

Q.17
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o3 =17 sre@mer % HRR 9T 92AT F 3ea} aAv|
HA Ak A9 H Aehcled FT Miegeh HY FAdT FT ATHA

g (BHm-s=ar, Haar-amga)| Aga 3AEdST Tsgafa A
eER oo F 9fe e’ H dihdes 98 T & =T
FAar F, FAar F B AR F99r @Err e JEr T
TETUHA T A/ H Ao F Soo@ Fadr gl g
gl T FT AFaeT I’ & SAlhded 3l TTHET Lo
& oda on 3EH T=e9 gatad @d o @k F &
SEHT FIS HE gumenr A IHA Aol q FFadl H
2MHA 4T|

SubQuestion No : 16

3eTeH o Fa & Tsgafer o7 tptunhnu hS 9096115519
* o B

v o AR Uwnpu ©.00

X n e

X v wrg

Comprehension:

f&&r s1T sgmer F IR W g F SR JfSw
A M AT F Alehcdes FT eMieged HY FAdT & AHT

g (BHE-S=ar, HAar-aEs)| A5 HAJST Tegaia A
HoEH T F 9ffE eEl H diedey I TEN £ A
FAAT HI, FAST & U HR FAAdT @R TS A 2
TE9YH YT 398 H dlehded & 3col@ [&edl gl %\Q
g AT FT Alehded AT & dllehded I AHTY

& foda on 3@ TEEw gARag @E ot T &
mﬁﬁém‘rmzﬁlmaﬁa@\ F T
AT =] O

@t TYPE PHARMACY INDIA IN
PLAY STORE TO DOWNLOAD OUR APP

SubQuestion No : 17 (Q
‘THET FT AT & @& tupkunpnl hS 8096115518
% n o QQ
K an =T Uunpu ©.00
X n FEER
W 0 FAdr

Comprehension:
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o3 =17 sre@mer % HRR 9T 92AT F 3ea} aAv|
HA Ak A9 H Aehcled FT Miegeh HY FAdT FT ATHA

g (BHm-s=ar, Haar-amga)| Aga 3AEdST Tsgafa A
eER oo F 9fe e’ H dihdes 98 T & =T
FAar F, FAar F B AR F99r @Err e JEr T
TETUHA T A/ H Ao F Soo@ Fadr gl g
gl T FT AFaeT I’ & SAlhded 3l TTHET Lo
& oda on 3EH T=e9 gatad @d o @k F &
SEHT FIS HE gumenr A IHA Aol q FFadl H

MHA AT
SubQuestion No : 18
O e F Ifedar Y & tupkunhnu bS ©096115517
Ans  of n STl T ATHA
25 an TTSAT &7 ATHS Uwngu ©.00

K n eF T 9TEA
X n gw—cﬁ’m‘r FT ATHT

Comprehension:

& =TT e F IR 9 FeA F e AT
T e a9 F Aiehdes @ Afeesh HY FADT F ATHA
¢ (BAg-st=ar, *fEar-aras)| #Age 3AdEr ueeafay 4
HoeH T F 9ffE el H diehdey 98 THN g A
ST F, Faa1 & fow AR ST @ gew A g
Fa9UH 9T WH H Feded 7 oo [HerdT gl m
9 A FT Ahded AT & Alhded HI ATAGY i(&’r
& T o1 @ v gAREd @ e T &
maﬁrﬁ%m%miﬁlmﬁmag\ F T
Qm iﬂ-[ @0 TYPE PHARMACY INDIA IN
SubQuestion No : 19 @ PLAY STORE TO DOWNLOAD OUR APP
O orfe Frm F e omaa A (0&
Ans X mw fEast & QQ
o &g SHFT Yunpo ©.00
X n TT el &
K n TF aad #

Comprehension:
hnnpuf@ddquynu’'nphlhwyUn gnd dddpkndyo:dppwd:4”dnnpghunnukdUuutuud Eun AT LU nipk:0:4 )N 70:4 )Nk U:S:0:,.45. 1 j« A : ¢ 0':0d:00
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o3 =17 sre@mer % HRR 9T 92AT F 3ea} aAv|

HA Ak A9 H Aehcled FT Miegeh HY FAdT FT ATHA

¢ (Bmg-saar, FHfareras) #ge wEddr aegafa 4

e ofFa & 9fag e’ H Fedes 38 8N g

FAar F, FAar F BT d3 99 @R e S E

TETUHA I AH H hded F Soo@ Fodr gl g

g T FT AFaeT A’ & SAlhded ol AT Lo

% RlT o1 3@ e gRARed A o @k o @

SEHT FIS HE gumenr A IHA Aol q FFadl H

MHA 4TI
SubQuestion No : 20
Q.20 :
'H':‘I'FI’W Alehded FT 3o p= tupkunhnu hS 8096115520
maa.r % | Unwnpu Rot Answered
Shnuku Npnhn'u (@ ==
Ans K n sm Uwnpu ©.00
X an RT
X on e
v oI
Q1 What is the fluid or liquid part of blood known as? opbunpn S 9096115539
Ans - X' n RBC
( 41 Plasma Uwnpu @.00
X n WBC R Q
7< n Platelets O
C

Q.2 What caused Gandhiji to recall the Non-Cooperation Movement in 1922? .
’\(b' fupkunhnu hS ©096115523

Ans x n b

The promise by the British Governor of enhanced political power in the hands of Indians | 4 Q

7< &n The Kakori armed train robbery '% Uuwnpu @.00
+ n The violent Chauri Chaura incident (0(0
x 'r]_ K App from Play Store}
The uncooperative stance taken by the Musli_m%@e leaders oLy g::::l:g'seflrlll'l‘:lllnollrn -
Q3 WWhen is World Food Day uavbnser'ved‘?Q fuptunhns S 8096115540
Ans %« 16 September
v 4116 October Uwnpu @.00

X n 29 August
/< n 1 December

hnnpuf@ ddqunu'niphyhwiUn gnddddpkndlo:dppuwd:d”’ jdnnpghunnubdUuukuudEun R HRU LU npk:d0:4)N: 0:4 7 N U: 810,457 )44 € 0':d:007 3
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Q.4 The Governor of any state of India is usually appointed for a period of years.
fuptunhnu hS 8096115533
Ans  of 0 five
X énsix
. Uwppu ©.00
& n three
&/ n four
Q.5 fix atmospheric nitrogen due to a mutualistic symbiotic relationship with rhizobia bacteria found in
their root nodules. hJulzunhn'u hS 8096115532
Ans & Citric fruit trees
W a0 Legume plants Uuwnpu .00
/< n Mustard plants
/< n Bamboo and sugarcane
Q.6 .
What does CNG stand for? hupbunhnu bS 8096115541
Ans X n Converted Neutral Gas
# én Corroborated Natural Gas
Uwppu @.00
« n Compressed Natural Gas
/< n Compressed Neutral Gas
Q.7 Where is the Pullela Gopichand Badminton Academy (PGBA) located?
fuptunhnu hS 9096115534
Ans X o Vijayawada
> 2
/< &n Bengaluru Uunge .00
/< n Visakhapatnam
« " Hyderabad
Q.8 Who was appointed to head the “New Development Bank™ being set up by the five
emerging economies of BRICS group? fupkunhnu hS 8096115538
5 H .
Ans o Arundhati Bhattacharya \Q
*
< an Raghuram Rajan ()7 Uunpu00
*
*
v n K.V. Kamath 6\(0
/< 1 M. K. Sharma §
Q.9 stfchy (s_yslem of double government) was introduced by the Government of India Act for the provincesigf pJ
e fupkunhn hS 9096115527
Ans X o 1935 6\
v 511919 Q}
. Q Uwppu .00
< n 1909 Q
r TYPE PHARMACY INDIA IN
x n J 8 5 8 PLAY STORE TO DOWNLOAD OUR APP
Q.10 i in whi ia?
The tropical evergreen forests are found in which part of India” ugkunhnl bS 9096115529
Ans x n
On the upper stretches of the Aravalli range
) : Uwnpu ©.00
/< &n On the Eastern slopes of the Vindhyas
hnnpuf@ ddqunu'niphyhwiUn gnddddpkndlo:dppuwd:d”’ jdnnpghunnubdUuukuudEun R HRU LU npk:d0:4)N: 0:4 7 N U: 810,457 )44 € 0':d:007 3 4.
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X n
On the Northern most ranges of the Himalayas
!f n
On the Western slopes of the Western Ghats
Q1 i t inciple stating that “bad dri t good”.
. is a monetary principle stating that “bad money drives out goo fupkunpnt S 8096115537
Ans X n Thiers’ Law
< an Keynes” Law
) Uwppu @.00
< n Macleod’s Law
' 1 Gresham’s law
Q12 Who gave the famous war cry “Dilli Chalo™? uptunpn RS 9096115526
Ans X n Lala Lajpat Rai
/< &n Bal Gangadhar Tilak Uwnpu .00
« n Subhas Chandra Bose
& n Vallabh Bhai Patel
Q43 is the largest tidal forest in the world. fuptunn S 8096115535
Ans X' n The Great Rann of Kutch
#< én Bhitarkanika gy .00
72< n The Konkan Coastal Forest
« 1 Sundarbans
Q.14 Who won the Denmark Open Super Series Premier Men’s Badminton title 20172
_ tupkunhnu hS ©096115536
Ans X Lee Hyun-Il
/< &n B. Sai Praneeth
_ Uwnpu @.00
< n Wong Wing Ki Vincent -\\’\
v " Kidambi Srikanth Q)
C)
Q.15 During the initial years after his ascension to the throne, Akbar was under the able guidance of: . (b'
A . . 6\ tuptunhnu bS 9096115522
ns X n Kamran Mirza Q
*
/< an Humayun N
. . Uwnpu (@.00
#2< n Sher Shah Suri Q>
v 1 Bairam Khan @
Q.16 : i
The deficiency of Vitamin c@f‘ellagra. hupbunpnu bS 8096115524
Ans J n ES
x an Bﬁ Uwnpu @.00
X n B
X n Bp TYPE PHARMACY INDIA IN
PLAY STORE TO DOWNLOAD OUR APP
Q17 ( ]
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Which of the following is called the ‘powerhouse of the cell’? tupkunhnl bS 9096115525

Ans o Mitochondria
/< &n Plasma membrane Uwnpu @.00

< n White blood cells
< n Red blood cells

Q.18 Ina__ government, all the power is held by the Central Government.
Ans “ n umta_ry

< &n decentralised

& n federal

fuptunhnu hS 8096115531

Uwnpu (@.00

< n confederate

Q1 Q Which article of the Indian Constitution deals with the power of the parliament to legislate, in the national interest,

with respect to a matter that is in the state list? hJEI:ur]_hn'u hS 8096115530
Ans  X'n 256

W in 249

x 260 Uwppu .00
n

X n 56

Q.20 Which of the following is a special feature of the rivers originating in the Himalayas?

A . ] . tupkunhnu hS 8096115528
ns X n All the Himalavan rivers are seasonal.

« &0 All the Himalavan rivers are perennial.
Uwnpu ©.00

< on

All the Himalavan rivers flow towards the west.
X n

All the Himalavan rivers flow towards the east.

Ukgnhnu (Rogical Reasoning

X

Q.1  Select the term that is related to the third term in the same way as the second term is related to the first term.

BYCX :DWEV :: FUGT : ?
Ans o HISQ @.‘
/< an GRHQ 6\ Uwnpu @.00

. Y

N
Gh—m‘u hS 0096115542
)

J n HSIR \
X n ITIS fh@

the second number?
Ans  X'n G:17 ‘Q(b'
vinl7:6 Q
XJH 3:85

Q2 Two numbers are such that 0.3 times the first is same as 0.85 times the second. What is the ratio betyy irst and
tunkunhnu hS 8096115555

Uwppu ©.00

Ao 85:3 rmm::#u’m:lw:llllnwnnw

Q3 A, B, C, D. E are five numbers such that A is greater than C, D is smaller than B, C is greater than B and A is smaller

than E. Which of the given numbers is greatest of all? tupkunhnu S ©096115551
Ans J n E

X anD

hnnpuf@ ddqunu'niphyhwiUn gnddddpkndlo:dppuwd:d”’ jdnnpghunnubdUuukuudEun R HRU LU npk:d0:4)N: 0:4 7 N U: 810,457 )44 € 0':d:007
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Xon A
XnC

l
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Uwnpu (@.00 J

Q.4 Inthe given series, the terms are arranged on the basis of a certain principle. From the given options,
select the missing term (indicated by ?), based on the principle.

ZOA, XMF, ?, TIP, RGU, PEZ
v 1 VKK
X an VKL
Aon YXX
X n WLL

Ans

fuptunhnu hS 8096115547

Uwnpu ©.00

Q_ B Three of the given options are similar in a certain way and one is different. Select the option that is different from the
remaining options.

< n RQPB
X an NMLB
v n NMKB
X n LKJB

Ans

fupkunhnu hS 0096115546

Uwppu @.00

Q6 A correct equation would be made if the signs *+', *»” and *=" are put in a particular order in place of ‘A’. Select this
correct order of the signs from the given options.

S8AZA2A3

Xon %, +, =
X&n—!—,:, =
Aon X, =+
(’rl =,+, X

Ans

fuptunhnu hS 9096115548

Uwnpu .00

Q.7 Different positions of a cube are shown below. Which number will be opposite the face with number “27?

12

rS
[¥]

-3

Ans

V6
X oan]
X4
X3

fuptunhnu hS 8096115544

Uwnpu (@.00

&

Q.8 Anarticle is sold for T x, and a loss of 15% is suffered in the transaction. However, if the same article is sold for Ty,
then there is a profit of 15%. What is the ratio of (v —x) : (¥ +x)?

Xn 20:23
Xanl7:23 &((\
o

(Jn 3:20
Xn20:3 {30

Ans

fuptunhnu bS 9096115552

Uwnpu ©.00

TYPE PHARMACY INDIA IN
PLAY STORE TO DOWNLOAD OUR APP

Q9 Ten years ago, the average age of a man and his wife was 25 years. Today. the average age of these two and their son
taken together is 25 years. What is the age of the son (in years) today?

Kan2
X ang
(Jni
X n 10

Ans

fupkunhnu hS 9096115554

Uwnpu @.00
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Ans

After how many years, the total amount will become ¥ 2,0207

v g
X a9
X ono6
X4

Q1 0 A man borrows T 500 at 5% per annum simple interest and ¥ 1,000 at 4% per annum simple interest on the same day.

fuptunhnu hS 8096115557

Uwppu @.00

Q.11
Ans

‘What is the compound interest on T 16,000 for 1.5 years, if the interest is 10% per annum compounded half yearly?

X n 2,400
X a0 T 2,680
X n T2.450
v n T2522

fuptunhnu hS 8096115558

Uwnpu (@.00

Ans

i
X n 756
X an 60
X n 68
72

Q.12 A moving train crosses 21 poles in one minute. If the distance between two consecutive poles is 60 m, what is the speed

fupkunhnu hS 0096115560

Uwnpu (@.00

Ans

then A alone can finish the same amount of work in how many days?
X n 50
X an 40
v n 30
X n 60

Q1 3 The efficiency of A is two times that of B. If both, A and B, working together can finish a piece of work in 20 days,

fuptunhnu hS 8096115561

Uwnpu (@.00

Q.14

Ans

In an examination, 75% students passed in mathematics and 70% students passed in physies. If 15% students failed in

both the subjects, what percentage of students passed in both the subjects?
v 1 60%
X &n 70%
x n 40%
X n 65%

fuptunhnu hS 8096115553

‘\&npu ©.00
P_-n
9

Ans

7 8 9
T 15 24

22
< an 33
< on 14
X n 23

Q.15 Smudy the arrangement of the numbers in the following grid and select the missing number in the series.

&
(b&‘
Q&

O
oD

. QO tuptunhn hS 096115549

Uwppu @.00

App from Play Stor

TYPE PHARMACY INDIA IN
PLAY STORE TO DOWNLOAD OUR APP

Ans

9,12,18.30,35,
n 102
&n 92
n 82

Q.16 Select the missing number to complete the given series, from the following options.

fuptunhnu hS 8096115545

Uwnpu (@.00
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n 112

“Unnkf@ Dnn nhhu fupkunhnup nhugnkpwiugl hu Snpup hu fupkunhnwudug tp
Uwnpu hu wkhwy wdwnipbg nn wip quitpnhguinkun

Q17 Ifa+b+c=534.2a:3b=5:4and b: 2c¢=3: 5, then what is the value of b?
Ans x;n 270

X 2 80

v n 144

fupkunhnu hS 9096115556

Uwnpu .00

X n 180

Q1 8  The capital letters in each of the following words are coded and written in small letters on the right side of each word.
But the small letters do not appear in the same order as the letters in the word. What is the code used for letter *A™? rUnl:ur}hn‘u hS 8096115550

Words Codes
PROBLEM | greatsd
ROMAN cftxs
LAME faat
BOLD gedz

Ans x n t

Uwppu @.00

X&na
Kong
vnf

Q.19 Select the term that is related to the third term in the same way as the second term is related to the first term.

fuptunhnu hS 8096115543

196:100:: 144:7

Ans K a 72
x an 36 Uwnpu (@.00

\fm 04
X n 8l

Q'20 To gain 25% after allowing a discount of 10%, the shopkeeper must mark the price of the article that cost him ¥ 1,080 as:

Ans X' n T 1,350
v a0 T 1,500

fuptunhn hS 9096115559

x n ¥ 1,380 X &npu .00
X n 1,458 o

8

(

.
Utgnhnu (Pharmacy Allopathy X\@

PR 4
Q1 Which of the following is the side effect of Methyldopa? ‘\K\ lugkunns bS 9006115574

Ans o Sedation and lethargy

X &n Diuresis &Q(b Uwnpu @.00
o

/< n Weight loss

TYPE PHARMACY INDIA IN

x n Ha ]_[ I_{)SS QQ PLAY STORE TO DOWNLOAD OUR APP

Q2 phenytoin is used in the management of: uptunpn RS 9096115578
Ans  X'n Asthma

v sn Convulsions Uwnpu .00

< n Acidity

hnnpuf@ ddqunu'niphyhwiUn gnddddpkndlo:dppuwd:d”’ jdnnpghunnubdUuukuudEun R HRU LU npk:d0:4)N: 0:4 7 N U: 810,457 )44 € 0':d:007
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/< n Diarrhea

Ans

@3 The left common carotid artery is a branch of:

/< n Subclavian artery
#< &n Brachiocephalic artery

« n Arch of aorta
< n Coronary artery

fuptunhnu hS 8096115601

Uwppu ©.00

Q.4
Ans

Chemical changes of the drugs in a living body are referred to as:

/< n Absorption

7< &n Digestion

& n Radiation

v . Biotransformation

fuptunhnu hS 8096115575

Uwnpu @.00

Q.5

Ans

Zidovudine is used in the treatment of:

< n Leprosy

#< an Tuberculosis
/< n Typhoid

¥ n AIDS

fupkunhn'u PS 0096115596

Uwnpu (@.00

Q.6

Ans

Which of the following drugs is given for reducing weight?

« 1 Fenfluramine
/< &n Flunarizine
/< n Fluoxetine

/X n Flumazenil

fupkunhnu hS 9096115584

Uwnpu @.00

Q.7
Ans

Which of the following drugs is NOT used for the treatment of acute migraine attack?

/< n Sumatriptan
« &n Propranolol
/< n Erogatamine
/< n Caffeine

h:{t@ hS 9096115567

Uwnpu .00

Q.8

Ans

Normal saline is a:

/< n Hypotonic fluid
/< &n Hypertonic Fluid
v n Isotonic Fluid
X Colloid fluid

@
>
<

fuptunhnu hS 8096115586

Uwnpu (@.00

TYPE PHARMACY INDIA IN
PLAY STORE TO DOWNLOAD OUR APP

Q.9
Ans

Usually the dose of intravenous amikacin sulphate to be administered to the children is:

/< n 1to2 mg/kg/day
W an 15 to 20 mg/kg/day

fupkunhnu hS 0096115582
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< n 8to 10 mg/kg/day | e 000 J

/< n 30 to 40 mg/kg/day

@10 Captopril is a/an: tuptunhnu hS ©096115573

Ans %~ Angiotensin antagonists
#< én Calcium chain blocker Uunpu @.00
v n ACE inhibitor
< 1 Diuretic

Q.1 . L
Phenobarbitone is: tuptunhn bS 9096115570
Ans % n Ultra short acting

X an short aﬂmg Uwnpu (@.00

/< n intermediate acting

+ 1 long acting

Q12 WWhich of the following is an antitussive drug? fupkunpnt hS 096115580

Ans X' n Salbutamol
< é&n Bromhexine Uwnpu @.00
v n Codeine
/< 1 Ambroxol

Q.13 . . . .
Which of the following is the side effect of Paracetamol? hupkunhnl hS 9096115576

Ans ., Bronchospasm

&n Candidiasis Uwnpu @.00

n Diarrhea
n Fall in blood pressure '\Q

*
“Lnnkf@ Dnp nhhu upkunhniuz phugnkpwiugh hu $nptu hu fupkunhnwudiygy bp CJO
Uwnpu hu wkhuy wdwpipbg nn wip qwiugphipwnkun

Q.14 Mifepristone terminates pregnancy up to the gestation age of:
Ans X n 11 weeks
& 4n 13 weeks

| o
x n 15 wee
15 weeks (b&\

0 tupkunhnu S ©096115583
O

Uwnpu ©.00

v 1 7 weeks

Q15 The special muscle tissue myocardium is f&d only in the: ugkunhnl hS 9096115564
Ans  of o Heart
/< an Lungs

/< n Stomach
3 TYPE PHARMACY INDIA IN
x n Brain PLAY STORE T0 DOWNLOAD OUR APP

Uwnpu (@.00

f 1
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Q16 If chloroquine is given in G6PD deficiency, it leads to: tupkunhnt hS 8096115571
Ans o severe bleeding

& an aseitis Uunpu .00
/< n nephrotic syndrome
/< n optic neuritis
Q.17 In a normal young healthy adult male weighing about 70 kg, the blood volume is:
tupkunhnu hS ©096115587
Ans  of 0 5 liters
< &n 7 liters
i 3 Uwnpu @.00
< n 10 liters
&< 2 liters
Q.18 i J ; 1
The phenomenon of decrease in the blood volume is called: hupkunhnl bS 9096115598
Ans %~ Hypervolemia
+ & Hypovolemia Uungu @.00
< n Hypoglycemia
/< n Septicemia
Q19 In biochemistry, PUFA stands for: fuptunpn S 9096115585
Ans 3 n Purified Fatty Acids
#< &n Poly Unstable Fatty Acids Uunpu .00
« n Poly Unsaturated Fatty Acids
7< n Pure Unsaturated Fatty Acids
Q.20 : Cinete )
Plasma sodium electrolyte disturbances can be caused by: gk @ hS 9096115589
Ans X n Bromhexine N
3 *
7< an Propranolol CJO Uitrgu .00
. y . -y
« n Prednisolone
#< 1 Salbutamol
Q.21 i i : i -
Which antitubercular drug should be avoided during pregnar% fupkunhn hS 8096115581
Ans o o Streptomycin @
x én ijampm @& Uwnpu (@.00
& n Isoniazid QQ
4 . = TYPE PHARMACY INDIA IN
/< n Pyrazinamide PLAY STORE TO DOWNLOAD OUR APP
Q22 wWhich among the below is the function of insulin? uptunnl hS 9096115509
Ans X n Ovulation
« &0 Intake of sugar from the blood in a tissue Uwnpu @.00
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#< n Inhibit production of FSH

/< n Releasing of breast milk

Q23 pharmacodynamics is the study of: ogbunhnt hS 096115565
Ans X what the body does to the drug
/< an selection of drug Uwnpu .00

7< n method of drug administration
« n what the drug does to the body

Q24 Dapsone is a medicine used in the treatment of: fuptunnls S 8096115502
Ans X n Epilepsy

# & Tuberculosis Uwnpu .00

« n Leprosy

#< n Malaria
Q.25 For the first-pass effect to be high, the drug should be administered through which of the following routes?
PR —— fupkunnu hS 8096115594

v 21 Oral

& n Subcutaneous Juney @00

#< n Intra muscular
228 Valporic acid is a: tupkunhnu bS 096115593
Ans X n Antacid

/X &n Anti-emetic drug Uungu @.00

/< n Analgesic

« 7 Anti-epileptic drug ’\Q

-

Nl
rupkunhnu hS 0096115572

Q.27 The dose of isosorbide dinitrate to be given to adults orally should be in the range of:

Ans % 70 to 80 mg
X an5to 7 mg

>

S
6\(0
\

\ Uwnpu ©.00

« n 10 to 20 mg

< n 40to 50 mg (Q(b
Q28 Antidote of Benzodiazepine is: @ upbunhnb S 8096115505
Ans ' n Barbiturates Q

# &n Naloxone Uwnpu .00

« n Flumazenil

75 n N-acetyl cysteine PLAYSTORETO DOWHLOD0OR APP
Q29 Nforphine derivatives are contraindicated in: [ upbunbnt S 9096115569 ]
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Ans  of n Head injury

< an Abdomen pain Uwngu @.00
# n Burns

7< n Renal colic

Q.30 The usual dose of Rifampicin to be administered to an adult is:
Ans X 1000 — 2000 mg/day

7< an 100 — 200 mg/day

< n 600 — 700 mg/day

W 7 450 — 600 mg/day

fuptunhnu bS 9096115590

Uwnpu @.00

Q31 The “Drugs and Cosmetics Act” was passed in the year:
Ans X' 1943

X an 1948

v n 1940

X n 1945

fupkunhn hS 9096115566

Uwnpu .00

Q.32 Which of the following is the ideal daily dose of Diazepam in an adult?
Ans X 50— 60 mg

75 an 90 — 100 mg

X n 70-80mg

v 5-30mg

fupkunhnu hS ©096115597

Uwppu .00

Q.33 A drug that decreases the activity of another drug is called:
Ans '~ Agonist

fuptunhnu hS 8096115591

/< an Synergic . \.Q\npu .00
« n Antagonist @) .
75 n Adverse reaction O

Q.34 Which of the following active ingredients forms a froth when shaken with water?
Ans X n Resin
& an Gum Q>

# n Tannin &Q
« 0 Saponin \(\(b

. \Q"‘ tupkunhnu hS 9096115562

Uwnpu @.00

Q35 1 axatives are used in the managemenfhof: fuptunpns S 8096115568

Ans

« ~ Constipation

x én Diarrhea Uwnpu @.00

/< n Appendicitis
X 1 i PLAY g:;lp #n“ﬂ'ﬁﬁfm“ ullrn APP
/< n Intestinal Obstruction
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Q.36

Ans

Which among the following drugs is absorbed from the stomach?

o o Aspirin

/< &n Metoprolol
/< n Aminopyrine
7< n Quinine

fupkunhnu hS 9096115563

Uwnpu @.00

Q.37

Ans

Gall Bladder is located in:
/< n Right Lumbar Region

/< &n Right Iliac Region
/< n Left Iliac Region
« 1 Right Hypochondriac Region

fuptunhnu hS 9096115600

Uwnpu ©.00

Q.38

Ans

In medical parlance, the term 'neonate’ refers to a baby that is:

K n

older than 12 weeks but no older than 16 weeks

+ 21 no older than 4 weeks
x n

older than & weeks but no older than 12 weeks

X’n

older than 4 weeks but no older than 8 weeks

fupkunhnu hS ©096115577

Uwnpu (@.00

Q.39
Ans

What is the approximate dose of morphine that could prove lethal to an average human being?

1 250 mg
< an 15 mg

< n 500 mg
X< n 150 mg

fuptunhnu hS 8096115579

Uwnpu .00

Q.40

Ans

Which of the following drugs is a bronchodilator?

v 1 Salbutamol
X 4n Ranitidine
/< n Ecosprin
/< n Digoxin

Uwnpu (@.00
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